Tema:

«Haxo)x0eHue
obsr1acmu

3HaYeHuUU QyHKUUU»



Haudume obnacmsb
3HaYeHuU OJ1s1 Ka)xoou

QOyHKUUU .

3aHecume 8 mabnuuyy
Homepa
coomeemcmayrowux
obs1acmeu 3Ha4YeHuu.









E(f)=(-;3)U(3;~)



E(f)=(-0;)












E(f)=[-2;)



f(x)=kx+m E(f)=(-;+)

K Ef)=(-=;0)U
f(X) R U(0;+)

f(x)= \/— E(f)=[0;+)



Haudume obnacmb
3Ha4YeHUU yHKUyUU

2_ 2_
f(X):X 4+X |

X —2 X +1



Haudume obnacmb
3HaYeHuUU yHKUyUU

f(x)=4(x-2)

f(x)=[x-2]
|x-2 |20
3HauUuUT E(f)=[0;+)




Haudume obnacmb
3HayYeHUU PyHKUyUU

f(x)zx/x2 +4

X% +420
X2 +42>4, \x'+4>)
3HAUUT E(f)=[2;+~)




Haudume obnacmeb
3Ha4YeHUU yHKUyUU

[(x)= \/9—X2
9-x° =0
X220, 9-x2<9 0<9-x> <3
3HauuT E(f)=[0;3]




Haudume obnacmeb
3HavYeHUU yHKyuUuU

f(x)=vx" —4x+8



Haudume obnacmeb
3HayYeHUU yHKUyUU

f(X)Z\/X2—4X+8-I-3

E(f)=[5;+«)



Haudume obnacmeb
3HaYeHUU yHKyuUuU

f(X)=9—\/X2—4X-I-8



Haudume HauMeHbWee
u Haubosbuwee
3HaYeHus yHKUuUu

12

f(x)=
) \/X2—4X-|-8




Pewume ypagHeHUe

(x=1) +1=3x> —6x+4



f(x)=a(x)
E(f)=[a;b]
E(g)=[b;c]

=g TP

g&(x)=>




Haudume obnacmeb
3Ha4yYeHUU yHKUUU

F(x) = 4x + 4

X =X



